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ENGLISH (COMPUL!

21. He turned my proposal.

(Fill in the blank with the correct i

alternative)

(A) out

\//-/('B) SR
‘k@ off ;

(D) wup

DD = Ik e since 8 C .’cl@ek m

morning.

(Fill in the blank with the e@,'

alternative) | -_; -: "'.-"-‘_.

(A) is raining

«B) had rained
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46. A bat at rest sends out ultrasonic sounq | 25,
waves at 34 kHz and receives thep
returned from the object. If the bat jg
moving away from the object at 5 m/g apac
and the velocity of sound is 335 m/s, | large dro piss harle e ;
what is the apparent frequency heard_-’_f: |
the bat ? 1

(A) 33 KHz

£ -/ (B) 60KkHz
5 (C) 32 kiz
&
- D) 75 kHz
47. The length of a wire of umf hu |
< cross-section changes from L, to L, when
. the tensile force on it changes from 1
4 T,. The relaxed length of the wire is
1
(A) 35 (L1 +1Ly)
¥ gy il
T~ T1 + Tz
s
f
LT +L, T
i ; | Fi C —h-_""""“———:"———l-
£ e
’ () Dly 5L
' Tl I Tz
OSSTET/P-]
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55. A body is dropped from rest, “’1“13 e&t. : In a given eleciasm; oF
same instant a second body is throwyn | | + parallel t0.2 5 -
downwards with an initial Velac-i / of B e g prod’tl _1. e
1 m/s. When will the distance bety - :

them be 18 m ?

|'r||,,

section without melting it vane& 10 volt. If | esistance
radius ‘v’ as: . i *_ Mo Er,lt he i

57. Anideal transformer is t 3\
to deliver 2 A at 110 Vl :;,. %
through the primary is :

AA) 10 A e T

L(Q/IA

(D) 01 A

____
........

OSSTET /P-I
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68. The element having Which of ¢ :
fOllDWing EIECtl'DniC Configuraﬁﬂn q
have highest ionization energy ?

(A) [Ne] 35 3p*
\/'g(B) [Ne] 3s? 3p°
© [Ne]3s?3p"
(D) [Ne] 3s° 3p*

k i 69. The shape of NH, mﬂlecule ;r},ﬁf
hybridisation of the central atom o _ H,
molecule 1S : g
! S A AE 2

. (B) Trigonal planar and 5P2 2 -fr

e G ‘é ) Pyramidal and sp®

/(D) Tetrahedral and S]?3

2Ry  WETAEETEEIE ¢ O N T T gy TR =N

(A) ns?np’
, (B) ns®np?
=€) ns? npb
’ | mfz nPS

sz Sze and H
(A} %2, Lesy
~B) -2 +1,
© 0/%1, 49
.(D)f 0 +1, —-2
OSSTET/P-1
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AuBUC=U. Then [(A=B) U B0
(C—A)} is equal to : TR
(A) AuBU @
 § B AUBNO
| i T \(9/ AnBAC (Cy— (6, 0) €
@) AnfB | S L e

81.

82.

|-|:r.

7{‘\ CQ/ 1—=c 5% 30451 s = -, I
(D) 1 + C Ao Y. G

] . = [l = oy i — e
i an e e R e Lol R o

-
Py
.
=
L ]
&
- 3] - . - -
i) e L, - - ] _ Y
= 2 I 3
- i 3 " rs
o 2. - 2
=% T . r
F I

TE L.

83. Letf:R — R be defined as f( '-
Choose the correct option :&@. n the

o 0

o T T

™

b = 4

following : 74 W < w3

(A) fis one-one onto

(B) fis many-one onto P
7~ (©) fis one-one but not ¢ 1‘-’@ \w
é/f is neither one-one ncr E;_n el

1
= .-::E_r e R, I g S T i, T T Y
- 3 i -

e u P e

Qo
7

S —
-

I ¥ . A
o T i
.. Iy W II‘. s Yy
s ) = L !
i - ms 1L ’
= 'y T (
. - o v ¥
= | — i R ! L [
r - Ty X ¥ )
- . R f LR ] *
ST i — e 3
et st o - - o
ol . 3 [
. i - el 1 Do i 3 T : L
(& s s WY L T '._'-_ U
Tl ¥ — ot o, ot - L
.| Bl -
i L I T
§ " it e e e s P | sl g legt AR g LB R m Yy
& e s - oY g _ = it " =
- e - e - g - = = g E A
T ~ r- - SR == =Rt 1=
. i 4 4 & N o i
P
'
2 . -
4, .
it 5 - J
- i -
k i [ -
o e ’
-
L - ¥ .- - '
=

127

L) 99

(). 123

OSSTET/P-1
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95. A circle of radius 5 units t{)ﬁﬁ :,?h_f.
Co-ordinate axes in the first quadr
the circle makes one cumpletg-_ re

¥
: the positive directio,
x-axis along P ‘ {F |

y-axis, find its equation in new p Sitie

"'-h.

L

equal to base radms 2 is
from one end and”% |
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113. The degree to which an assessment

actually measures what it is supposed to

measure is known as :
_(A) Validity 4
a8 s Grades
~  AB) Reliability (A) -~

(C) Pract'icality
(D) Ethics

(A)

o &
-
o
IR
L.i.!ﬁ—._

..

(B)
o i

a I'ESPOI[SE

Is offering of reinforcement by the :
teacher |

/(D) Is constructed by the students -. \
themselves who play an active role |

115. The teacher can utiliz

“assessment of learni

> both “assessment
for learning” and

to: =
(A) Monitor chi drenﬁ
apprﬂpﬂ&?’ke TH' als to
3 learnir f ,MPM;

vildren’s pmgfasa angey
ach evement level. e
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'>< )B’ The pragrammed 1nstructm |

#.ﬁ , . i

124. Which approach of management stand ;

for the function of elimination of waste
in all forms ?

1} . The first columi fﬂ? .l

ARy ,_:1_ ma d. e is Caﬂﬂd aS -_:.‘-’,_ *_-"-.-';'; . -':‘I.:

o
i

= ¥

(A)—Gist benefit approach
pal (B) Manpower approach Y
AC)  Social Justice approach

(D) None of the above

125. The followings are the characteristics c r_
self learning except :

(A) Can fulfill the needs of the sl:ud 1 su" I

method reduces the prgmgms of th (A) Ability E}f p]: ﬁi’”‘:n N SC

group learning | | s
(B SEIf'CrItICIS ﬂlﬂ Al Ht evaluatior

e Ty,

‘;,'-,E-;‘T'_; ety

o o . ,
_ r‘- I" -.L.- e
Al R T L L e R o i c

_-Z-"},r

126. Why mi %9;!.1%?“%

‘Because he/she wants to use a
rubric that can be created quickly |
‘hﬁﬂé&ﬁ:ﬁfu.l‘

To give the students specific -

feedback

(D) To grade the presentation quickly

OSSTET/P-1
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136. Which of the following is useq y: :

guideline for dESIgmng S grad?‘--

system ! ?

‘_ )
(A) Create a system that i CI development

understandable and CﬁnSlstent égnq
school. "

Lc

A) The range of pm m,
w* assis
solve if given sem o

L. a
¥ =

;,»{H_ (C) Assi gn grade‘s-- ‘ consj_ste 1
regardless of gender, Claﬁa‘s ﬂ_l.
SOC10-eCcoNOmic status 3 | "'._” |

(D) All of the above

R S T b

'|.| L. Ir.
" 1.1'- E
it~. e
l"'"

"'i

pl..

Parent and

W Se}f'expressmn and
e LB - .L A l

-(LH) Expressing tlfl& hid 3
g e IR 1 L =

(A)

. LF
- i
") p 4 re r- > ) -
- - - p= - o - -
= » . i
- i 5
- i l|-_ A ; :
: a " EA sy =T | Er g I £ i
IIie b 5 1ritoroct 11 v 117 |
: 5 o e N 2 - o i B | P ’ o I" ;.‘1--__| | = T1111%
i = - : .- . = = b = . .
L} -y . - L L 1 F ) A .
h ’
- - i . __J_ e ;
. P :
L - g a
;
b . 5
R 3 -
ks B - EACEE
B. : G - e A ol e L e
) : - - el . - -~ .
L 3 51 e:rs 1 1l f N ':-!‘1. & ';.' T i B
T T s L R e b i
== i h . 4 A
- : 2 .
.
: ] .5 :
b

co-operation « o S

--------

.....
.....
. Fp e
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